Dividing Radicals
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PRE-CALCULUS 11
RADICALS
DIVIDING RADICALS

A. Definitions
1. radical: a mathematical symbol representing a root.

2. rationalize the denominator: removing a radical from the denominator of a fraction.

B. Dividing Radicals (Monomial Denominators)

1. Rationalize the denominator.
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Assignment: Dividing Radicals Assignment #3, 4, 5, 9, 10
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Radicals Lesson #7: Dividing Radicals - Part One

Assignment
1.. Simplify.
L VS0 V3
g)_. Vs b) Vi
842 25\/88
e) EN 3 76 N NG
2. Simplify.
o) Y210 p) Y2
V10 Vs
3. Simplify.
2\/150 44/90
a) & VT b) T
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150 Radicals Leason #7: Dividing Radicals - Part One

4. Simplify.

a) _@___@ b) 9V20 - 3v10
V7 V2

d) 8v/20 +10/125 o V75 +/48 -/27
3

25 V3

1 6 V3
7z ) /5 © /3

v 10 Vv 12 T2
© /7 H 73 8576

5 14 -2
i) —— —_— —
) 7% Y T K 7%
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o 8vV42 +12\/75
4/3

0 V9% + 240 - /16

——

Vs
V3
d) s
V32
h) -‘Vr_ﬁ
n 31/500
—/27




9. Sunphfyand express in Jowest terms.

o 10/18 —5v/24 b) 15V/18 - 3\/242.
| V5 N
10. Simplify
6y/18 +5v20 - 3/72 - 6/125
a) i \/3

-

by VO +8y/38 - 12(/75 = 8/18
| 378
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156  Radicals Lesson #7: Dividing Radicals - Part Ome

Answer Key
Vo ) V3

1.
2.
3.
4,

6.

".

10.
11.

12,
13. D

16.

a)
a)
a)
a)
a)
h)

a)

< a) .

a)

a)

a)

a)

a)

W3 B WNZ o VI @ W
V3 b) 25 ¢ 2/5 @ 4/3.
V5 -V3 b) 3@'-% ©) 2/14+15 @) 33 e) 6 1) 3V2

w4

1WA BV o 4E e
N V2 N V2 K

IV W VS o WE o

Vid -2 3+2/6
T B

c)

62 ~8  probably Jaclyn's method
&0 -2v30 B -2

20
' 6
V3 -V/2 meters b) 15.3 metres

7-

4/6 meters

by 113 - 42\/-5"

b) 20.73 metres

14. D.

4ve

OV @2 04T W g 27 B V5

0 VR 0 IWBE e LVE

--é\/_ﬁ 1) :_liqm

Vi

V30 +243

6

b) 40 and 20 do not divide exactly by 7

18. ¢

N I

6
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